
lass-V) 

Weght -Volume gnd Volume Vlunme 
Rlationship 

Q) Ans 3 3 

Teacking Lask 
JEE Main evel Questons 

|&olyion Ng 3H¡ ’2N H3. 
3X2x1=6 

Given N= 289 
I mole o Ng = 28% 

Q89 

03 

for mole Ng requiry 3mdey d Ha. 

o-l moles 

Ng = 0 then Ha - 03 moley l 

One mole o any gay ad sTP occupíes N4liteg. 
QQ4 e. 

= 6-72 ltrey 



dolution NooCo, t aHclNacl + (o, + Ha0. 

For mole of Nao Co, . Imole co, liberated! 

Given 

| mole 

Naglo, weight: a)2 gong. 
Nap Co, =R(23)+12+48= l06 gmy 

| mole, Nag CO, 106 gms 

X= 2120-0) moles. 
|06 

Na, coy = I mole then 

1# Nagloz3 is o02 mole 

Co, lmole 

TMole of co occupie )4 lites. 

. 

co, is also oaQ mole,. 

|’22.4 rel 

O.448. 



Q3) Anst B. 

Soluton 
Imole sulphun, Imole og requived. 

Suhur, 

S+ O, SO,. 

Imole = 32 gmy. 

For onygun 

) Ans- 3 
&olutfon 

Cpltorn B) 

I mole 

N= 0. 062% moley 
32 

o- 0625 

Qgrams 

X = 4 rey. 

16 
23-414-.y itrey 

Rtres. 

St Og 
Imoe oP sulphur require s Imoe of orygn. 

15 moly of sulphn Yequivey 5 moley of o, 

I’Q0 4 rey 
X 

-336 itrey 



Q3) Ans 2 

Solutiont 

For Imole co i producey Imole of co 

Imole 

Q6) Ans 2 2 

Co also o-6 mol eg, ; occupiy it2 |ry 

it 

Q1)|Ans 3 
8oluton 

f8 

cHI3 

a2. 4 ite 

Solution e CHT, 4 6Aq ’ Hy t 6 AgI 

2 

moles. 

8 mde of fodolorm roducey Imole of aceene 

O:005 

i 

C2 H 

Imole 22.4 lihe 

S+O -’ S0, 

X= 0.01 -0.005 moley. 

Fon lmole ol S ’ Imole of o 

f80-moles of s|5 moley of o, 
|5 rmoley cupy 336 re. 



Qs) Ans} 3. 

a mdey Fe 2moley of Og 

Qfe= ax 56 = 12gms 

They 

30, moles occupiy 224 I:tre 3 6 lrhe 

is 

qirig 6-6 khy of O 

fn hrg recgent is Fe 
Tron ?s iosaficent to read with Oh So 

Fego, = 2x56+ 3x 16 -112+48=l60qmy 

Fe 

6-6 

re, Os. 

160 

X 

2 l60X5"6 

|60. 

O-05 

lmole l60 gg 

12 

o5 nale 

48gms 

56gry 

gms. 

of Fe. 



G) Ans 2 

Gho Ans- 4. 
&lution 

Qmdy Imole 

S0 ml of No 

Vdn Avogadho laus 

lo ml 125ml 

f81 

f81 mle of H, ’2 moly of Mcl 

for loml of Ho ’0 nl of HcLpudvced ml 

Ars' B,GD. 

Araguco 
producey aool of No, 

Advance d level Questions 


olutin NHycl + NaNO, > Nacl+ m9)+ Qt20 

F8 oole Ioole NHycl Imole Na No, is degutred 

But they gve o.5 mole of NaNO, Imole afNH,. 

and 

o5 moley of NaNo, poduces o5 moleof 

o5 mdey of N= QNYltte= l-2 (ef. 

wigit 

6 

eigkt ugms 
2 

Ng 

&e, Na No, ts tarkg regent 



Q Ans: A 
Solutian 

I voluno of Na orobine 'h 3 vo hyoe, of W; 

to give 9 volumes of Nita 

The vatlo of N:H, ís r 3, which is a sin ple 

Yatto. 

QIB Ans A 

SduHon 
molee of (2 H2 5 moley of O. 

C2 Ha 

for lmole 

44800mL 

Cuo 

to 

12,000 mL 

000X70 

for 70 ml of C H¡ 175 ml of oIYgen ege 
44800 

QI4>Ans- Cuo tHa ’ uttb0.Ans A 

X= 795 

- I75m. 

cuo, Imole H, Droduc es Imole Cu. 

I mole Cuo = 65.5416=8}. 5 gm!. 

I oole S5 gm. 

8|:5 
O-097 moe, 

mole > 22.44 he. I 
O097-. 

X=2-185 4reg 



15) Ans 4. 
&olutin 4Al + 30, -’IAl, O, 

For y mou of AL veguires 3 moley of o, 
Bud 

1 

|oluton 

Given 

given y4 8 # of o, mea 9moles. 

for 

AL 

mole of AL 24gmy. 
for 2-66 moles 

I 

4 mole 

3 

Imole 

| moe 

anoley. 

Zn t H¡ 60 

2 66 X7 =72,g. 

Ool mole of 2o 

-66 moles. 

Imole 

mole Zn= 65g 

Imole Imale. 

2400 . 

o-ol mole of Ht ols ool moles 

Oo| X65 
= 0. 659 



G)Ans! 2 
Souion 

For Imole ofata vequie, 
| 

Guven 

for O 

CzHs +50,30, t4Ho0 

I mole c, Hg x1)4 8/): 3612 vdgns 

0.055 

0.05 rnoles. 

181 o056 moley of CaHe 5X0055 o O 

I) Ars 2 

I mole2.4 iBre. 
O216 mole 

ooles o o, 

nole. 

Zn + HaSo,-inSo, + H 

F81 Imole of Zn, Imole of th produced. 

Guven usL of HT, i-e Amoles of H, 



Q14As' 
Oolutin CacO ’ Ca0 + C0, 
f81 I mole of Coco,, Producey Imole of o, 

fon y48ol of cacos, no-o moley of co? 

fe o-o2 moly of Co 

o- 448 

O-02 

29s 

) mole of Caco = y0 +12+ Y8 = l00gmg. 

o.02 moles. 

O- 02 moley of Ca cos 

Purtty= 

= 

o02 moey of aloa 

1his agng of CaCo, producey y48nl fo, 

2 = 2. 

But they gave ony l0gh. 
Caly 

Q0) CaCo, is present 



Mal,tr Matding 
Q20) Ans A , B.).c-() D ) 

&oluian 
|A) 10g. Ca cO, A, 

Ca (O, ) Cao+ (0, 

|00 g 
Imole 

T0gmy m eang = o| mole. 

D.l mole of CalOg ’ 0loley of 

B). 1-064- Nasco, xac. 
Nas Co, +9H ceNocl+ Hoo + Co, 

|mole 

|· 06 gmy 

66 

mole 

| mole : 46+12+ 48 = lo6 gng. of Na,(03 

I mole 

|rnole 

D) o 569. co.5 

meany ’o.o lmole. 

|22uirey 

Imole 

o-2 

co +o,’Co 

I> litrey 

2-4-0.2 moleg 

|mole 

28 
+0-02md4. 

co, 

Vol ume of co 
= a24X 0"02 



Q)Ans 
&cution 

Gúven 
8 

62)Ans 2 2 

502 

F81 

leoxnes 's Task 

Volum of Or 

I mole 48 gmy 

4. 6 

2moe3 mole 

0-3 

a22.u 

= 02 m ole. 

S+O, ’ S0 
re 

X03xQ 

Y 0-224 litrey. 

=24lHreg. 

12 

I mole o? S= 32 gm. 

X 0.224 

O-dl noles of so o.o) moles used. 

0-ol moey of s= 32x001 

Prey 672 ltre 
-67 20 

0.329m 

0ol moles. 



Q3)Ans 3 
Solion aco, 

I rmde of Caco, = Imoe of co 

Géyen 5.6 tree of co 

lmole of 

O26 

QH) Ans 3 

Ans 3. 

mo 

Cao t C0) 

I mole of cl 

.6 

Cacoa = 40+12+48 = lo0 gmg. 

560:25 moles. 
22. 4 

Giyen H¡s= lo 

y litres. 

no ley of Calo, = I00 X 025 

dolution ch +Ha S HCl +s. 

C 

25gmg 

requires of Imole of H,s 

litre, ie volume of ch lotrg 

aoluton GHg +50, ’ 30,tYHho 

f8 I mole of aHs ’ 3 moly of co 
CH 

F81 }8 l00 Cm> of CaHg = 3Xl00 Cm3 of co, 

|3 

= 300 Co3 



Q6)Ars 
|&dution 

I mole of Feza, ax56+ 3(16) = |12+ 48 -160gm9. 

}81 Imole of Fe, O, -’3 rooe H2 

Voluroe of 3 mole of H: 3x224 Ieg 

Ans 4. 

Given 

te,0, + 3 H ’fe +3Ha o. 

f81 lmole of co, = male Co. 

Ans | 

Voluma of co. = 26CC 

Volume of co = 2x06 

&oluton 

= 52 CC 

Ha+ Ch’ HCL 

Ha loomg = 0- gnd 

Jo mole of Ha-Lgm 
X of H2 0gm 

Imde Ha, l mole ch do produee Amole 
of HcL 

0-05 rnoly of H,fo-06 nnole of clh, omoley ofHl. 

Volun o oos mole of ch o.05 X a9Yo ml 
= ||20m 



Q) Ans I 

Solut'on Zn t S0s 

Imole zo pyodure Imole of W2 

8 

)à224 IHreg. 

Gver 

Qb) AnS 4. 

0224 = 0-olmoley. 

Imole Zo: 65 gmg. 

odmoley of Zn o.olx65 =065 9rg 

OHcl 

mole of Hcl ’Imole of H) 

mole 

Hat cla 

4CL= (Oom L 

aIM00 ml. 

|5 

TP Hd is o.0oy46 moles, Ha? O004Y6 

o. 0O446 moleg 

H=0-00223 moley 

looml oP Hl 5oml of He 



Ans 
Solutia 

f81 

Imole to, o5 rnol of O, 9ire) 

4. 

f81 N6 ml 

O3) Ans 2 
Eoutton 

male pfH, I mole of oayger 

Rernainig 

of 

But Sv en gu ol of Oz 

Imole 

H9, squiey 13 ml of o, 

:24-13 = 11m 

o5 mole of Caco, 

her co, 

Imole 

|6 

60gm. 
50 gmy of Ca co, is veguited produce ll) 1he 

They told which is 80% puie 



Q)Ans 2 

Q5) 

Guv er 

F81 o-moley of Zr, o.l roole of Zosa, & 

o Imole of H, ís iberat ed. 

| mole of Zn So, = 65439 + 4(16)=l6lgrng. 

ol moles of Zoso, 0lxl6|- 161,gmg 

o. mole) Ho voume = o- lx22.4 Ire 

Arg 2 
öoution 

Given, Volume o CHy 5 ml: 

fe Imole c Hy, moley of O2mole of co) 

bolutign ;Hs t 150, ’6co, +3Ha0. 
2 

Co, = x 5 -5ml 

CcHe=(6/ 6=73 gr. 
Gúven GHh = 39 gmy i.e 05 moley 

volur of o-s mole of CsH, 
Volue of 

= 11-g Ire. 

I treg 



Q) Ans 

Soluti on aKClO,- AK�l B 
181 ole of kclo, -’3 nole of O 

1.|2 - 0.05 moles. 

X 

3 mole. 
0.05 moly 

X- ax005 0-033 mole. 
3 

| mole KCLOs = 39+35:5+ 48 KClog 
= 122-5 qg 

F& oo33 moley of KCLo, l22-5 X0-033 
- 5-6265 gm 

| mole of KCL 39135-5 

o-033 nol e of KCL 0033x 4:5 

- 459m s. of keL 



olion Skclo, »rl 30, 

19) O) Ans 2 

Gúv en 

Imole 22.4 e 

kclOs 

produce 

Q20) Ars 3. 

gm 

3 

-3013 rool 

1: 2x3o13 ).008. 

Mgcog + a (Og = 18 Ygrý. 

3: 

33 

ie 84gry of M� Co, and logm of lalo, 

’0l mde of Mg Cog, ol moley of Ca Co 
o2 mole of Co, 

0rnde co, volume 

Fe o-126 moley of 

J mole ’2gran 

&oution Equal volume of dient 
equal no. of oole. 

Cao + 9(Og 

goge Contoin 

1o25 mole. 

Ha = O:)25 X2 0259m 



81 4gmy of Ha equire 32 qrong of 0, 

So O, is a lini tng reogent 

Ga) Ans A 

|mole ’ 329my 

Sane 

ugr 

= 

= 

|Souton CHu = 12+4= 16gng 

0 

x8 = litre of Ho 

5-6 ltreg. 

-9.8 hes. 

Guven CHy= 8qmy mea o.5 mole which Cer 

N2 03 n, but iven l4gy ico5 noly. 

thii also occupy I2 lthe. 

Equal volunmes of ol gese unden the all gasy 
Conditons Catai equal no l molecules f 



8oldfon H¡ + cl, HcL 

The volme of H,, Ch £ Hcl is ::2 

-’ The substarze alony veacd tn such a oay 

that thety volume rato is siple ohoe number 

Sdutto 

Gáven Volume of co 36 C-C 
Volume of co G co in #he rotto of :2 

T volume of co, 26 cc then 
volune of co 6= 5acC 

Valune of CyHio É Co, is io the ratio of 

G°ven, volune of butong 9 Iire. 
volum of co, aX4 

-8 Preg 



Q26) Ans' 

he vlune of 

Giv en, volme of melhone o reg. 

voume f o, : 2 1o 

QA Ans 6 
Solutian' C2Hut39’c0, t 2lh0 

The voluma of G Hu t 0. in he xoto of 

1:3 

Gur en voluma of etheno = l 

yolume o! 3x2 = 6ml 

22 



QA)s 
Sdutia! 

A) ChOH 

-’ 2C HaOH + 30, 

CtiboH & (0, aou in |Yatio 

flmde of co, 

Nag(og 

Gúven 1· 06gmg SO 
o-ol moles of co, 

(mole 

Imole g 

o569 co 

Imdle 

20,+ yho 

co+0,’ 0 

28 gg 

X5056gr 

3349m 

Imda 

o2 mole co, occuptey .s Itreg 

924brey. 

0-o) moles. 
occupi e) o aQY [rey 

tmole. 

0-2 moleg. 

X=056 Volume of (02 

-0.448 tep 
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